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1) Answer any four of the following:       5 × 4 

a) What is epiboly? 

b) What is meant by ‘fate map’? 

c) Write two larval features which are absent in adult frog. 

d) What is a venous heart? 

e) What is zona pellucida? 

f) What is meant by sperm capacitation? 

g) Define fertilization cone. 

h) Where zonary and discoidal placentas are found? 

i) Write two differences between chorioallantoic placenta and choriovitelline placenta. 

j) What is ‘Golgi rest’? 

 

2) Answer any one of the following:       5 × 1 

a) What do you mean by slow block polyspermy? State the significance of yolk in patterning 

cleavage.           (3+2) 

b) Distinguish between involution and ingression. Write two differences between oogonia and 

ootid.            (3+2) 

c) Define aortic arches. Which of the aortic arches are persisting in adult teleost fishes?      

           (3+2) 

d) State the role of sertoli cell and leydig cell in spermatogenesis. What is the difference between 

the hearts of a general reptilian animal and a crocodile?    (3+2) 
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